Line Pay Item Code Description	Quantity 1	Units LSUM	(1) Hoffman E	Bros., Inc.	(2) Hunter-Pr	rell Company	(3) Concord Exca Grading, In	
0001 1500001 Mobilization, Max 10%			Bid Price \$7,072.00	Total \$7,072.00	Bid Price \$18,187.05	Total \$18,187.05	Bid Price To \$15,000.00 \$15,000	tal .00
0002 2040020 Curb and Gutter, Rem	75	Ft	\$3.16	\$237.00	\$9.50	\$712.50	\$8.00	\$600.00
0003 2040055 Sidewalk, Rem	30	Syd	\$3.85	\$115.50	\$9.50	\$285.00	\$10.00	\$300.00
0004 2047011 _ Pavt, Rem, Modified	3,150	Syd	\$10.75	\$33,862.50	\$7.00	\$22,050.00	\$12.50	\$39,375.00
0005 2050041 Subgrade Undercutting, Type II	50	Cyd	\$22.65	\$1,132.50	\$8.00	\$400.00	\$25.00	\$1,250.00
0006 2057002 _ Machine Grading,Modified	11	Sta	\$742.40	\$8,166.40	\$850.00	\$9,350.00	\$800.00	\$8,800.00
0007 2090001 Project Cleanup	1	LSUM	\$1,563.00	\$1,563.00	\$5,000.00	\$5,000.00	\$2,000.00	\$2,000.00
0008 3020008 Aggregate Base, 3 inch 21 AA	2,440	Syd	\$3.68	\$8,979.20	\$4.00	\$9,760.00	\$3.75	\$9,150.00
0009 3020022 Aggregate Base, 9 inch 21 AA	3,250	Syd	\$7.99	\$25,967.50	\$6.00	\$19,500.00	\$10.50	\$34,125.00
0010 4010012 Culv End Sect, 12 inch	8	Ea	\$87.90	\$703.20	\$150.00	\$1,200.00	\$140.00	\$1,120.00
0011 4010607 Culv, Cl F, 12 inch	170	Ft	\$16.30	\$2,771.00	\$28.00	\$4,760.00	\$25.00	\$4,250.00
0012 5010025 Hand Patching	2	Ton	\$217.80	\$435.60	\$200.00	\$400.00	\$210.00	\$420.00
0013 5010031 HMA, 3C	585	Ton	\$57.50	\$33,637.50	\$57.50	\$33,637.50	\$60.37	\$35,316.45
0014 5010703 HMA, LVSP	605	Ton	\$61.50	\$37,207.50	\$61.50	\$37,207.50	\$64.57	\$39,064.85
0015 6020017 Conc Base Cse, Nonreinf, 7 inch	17	Syd	\$61.80	\$1,050.60	\$50.00	\$850.00	\$37.80	\$642.60

0016 8020038 Curb and Gutter, Conc, Det F4		75 Ft	\$30.80	\$2,310.00	\$35.00	\$2,625.00	\$25.20	\$1,890.00
0017 8030010	10	Ft	\$32.00	\$320.00	\$48.00	6480.00	\$31.50	\$315.00
0018 8030036 Sidewalk Ramp, Conc, 6 inch	270	Sft	\$7.79	\$2,103.30	\$7.00	\$1,890.00	\$6.82	\$1,841.40
0019 8070095 Post, Mailbox	3	Ea	\$70.90	\$212.70	\$105.00	\$315.00	\$100.00	\$300.00
0020 8100371 Post, Steel, 3 lb	104	Ft	\$8.00	\$832.00	\$10.00	\$1,040.00	\$8.40	\$873.60
0021 8100404 Sign, Type IIIA	50.5	Sft	\$18.00	\$909.00	\$20.00	\$1,010.00	\$18.90	\$954.45
0022 8110049 Pavt Mrkg, Ovly Cold Plastic, Direction A	6 rrow Sym	Ea , Bike	\$150.00	\$900.00	\$110.00	\$660.00	\$115.50	\$693.00
0023 8110058 Pavt Mrkg, Ovly Cold Plastic, Bike, Small	6 Sym	Ea	\$150.00	\$900.00	\$110.00	\$660.00	\$115.50	\$693.00
0024 8110197 Pavt Mrkg, Thermopl, 6 inch, Crosswalk	90	Ft	\$3.00	\$270.00	\$4.00	\$360.00	\$3.09	\$278.10
0025 8110218 Pavt Mrkg, Thermopl, 24 inch, Stop Bar	32	Ft	\$6.00	\$192.00	\$18.00	\$576.00	\$13.12	\$419.84
0026 8110231 Pavt Mrkg, Waterborne, 4 inch, White	2,100	Ft	\$0.25	\$525.00	\$0.50	\$1,050.00	\$0.42	\$882.00
0027 8110232 Pavt Mrkg, Waterborne, 4 inch, Yellow	2,060	Ft	\$0.25	\$515.00	\$0.50	\$1,030.00	\$0.42	\$865.20
0028 8120010 Barricade, Type III, High Intensity, Double	10 e Sided, F	Ea urn	\$73.50	\$735.00	\$135.00	\$1,350.00	\$77.17	\$771.70
0029 8120011 Barricade, Type III, High Intensity, Double	10 e Sided, C	Ea)per	\$2.10	\$21.00	\$1.00	\$10.00	\$2.20	\$22.00
0030 8120140 Lighted Arrow, Type C, Furn	2	Ea	\$357.00	\$714.00	\$1.00	\$2.00	\$374.85	\$749.70
0031 8120141 Lighted Arrow, Type C, Oper	2	Ea	\$21.00	\$42.00	\$200.00	\$400.00	\$22.05	\$44.10
0032 8120170 Minor Traf Devices	1	LSUM	\$977.10	\$977.10	\$2,500.00	\$2,500.00	\$1,500.00	\$1,500.00
0033 8120250		50 Ea	\$12.20	\$610.00	\$30.00 \$1	,500.00	\$12.78	\$639.00
0034 8120251 Plastic Drum, High Intensity, Oper		50 Ea	\$0.42	\$21.00	\$1.00	\$50.00	\$0.44	\$22.00
0035 8120350 Sign, Type B, Temp, Prismatic, Furn		300 Sft	\$3.36	\$1,008.00	\$5.50	\$1,650.00	\$3.52	\$1,056.00

0036 8120351 Sign, Type B, Temp, Prismatic, Oper	300	Sft	\$0.04	\$12.00	\$0.50	\$150.00	\$0.04	\$12.60
0037 8167011 _ Turf Establishment, Special	1,200	Syd	\$6.04	\$7,248.00	\$9.00	\$10,800.00	\$5.00	\$6,000.00
Bid Totals:			\$184,	278.10	\$193,	407.55		\$212,236.59

1	Construction s, Corp.		ery Excavating _C	(6) Lounsbury Excavating, In Bid Price Total		
Bid Price \$16,000.00	Total \$16,000.00	Bid Price \$19,130.00	Total \$19,130.00	\$13,958.55	\$13,958.55	
\$10.00	\$750.00	\$5.00	\$375.00	\$11.50	\$862.50	
\$8.00	\$240.00	\$15.00	\$450.00	\$21.50	\$645.00	
\$12.25	\$38,587.50	\$6.10	\$19,215.00	\$6.00	\$18,900.00	
\$20.00	\$1,000.00	\$10.00	\$500.00	\$61.00	\$3,050.00	
\$1,900.00	\$20,900.00	\$1,820.00	\$20,020.00	\$3,220.00	\$35,420.00	
\$500.00	\$500.00	\$2,000.00	\$2,000.00	\$3,220.00	\$3,220.00	
\$5.00	\$12,200.00	\$5.55	\$13,542.00	\$4.85	\$11,834.00	
\$11.80	\$38,350.00	\$11.20	\$36,400.00	\$13.20	\$42,900.00	
\$100.00	\$800.00	\$350.00	\$2,800.00	\$135.00	\$1,080.00	
\$30.00	\$5,100.00	\$30.00	\$5,100.00	\$15.00	\$2,550.00	
\$200.00	\$400.00	\$200.00	\$400.00	\$220.00	\$440.00	
\$57.50	\$33,637.50	\$75.00	\$43,875.00	\$63.40	\$37,089.00	
\$61.50	\$37,207.50	\$75.00	\$45,375.00	\$67.80	\$41,019.00	
\$27.00	\$459.00	\$50.00	\$850.00	\$110.00	\$1,870.00	

¢24.00	¢2 225 00	¢20.00	¢4 500 00	£46.00	¢2.450.00
\$31.00	\$2,325.00	\$20.00	\$1,500.00	\$46.00	\$3,450.00
\$25.00	\$250.00	\$40.00	\$400.00	\$45.00	\$450.00
\$8.50	\$2,295.00	\$5.00	\$1,350.00	\$15.75	\$4,252.50
\$50.00	\$150.00	\$50.00	\$150.00	\$155.00	\$465.00
\$5.75	\$598.00	\$7.00	\$728.00	\$7.00	\$728.00
\$15.75	\$795.38	\$10.50	\$530.25	\$11.00	\$555.50
\$110.00	\$660.00	\$350.00	\$2,100.00	\$121.00	\$726.00
\$110.00	\$660.00	\$300.00	\$1,800.00	\$121.00	\$726.00
\$2.95	\$265.50	\$4.00	\$360.00	\$3.25	\$292.50
\$12.50	\$400.00	\$10.00	\$320.00	\$14.00	\$448.00
\$0.40	\$840.00	\$0.20	\$420.00	\$0.05	\$105.00
\$0.40	\$824.00	\$0.20	\$412.00	\$0.45	\$927.00
\$95.00	\$950.00	\$100.00	\$1,000.00	\$107.00	\$1,070.00
\$5.00	\$50.00	\$2.00	\$20.00	\$1.25	\$12.50
\$320.00	\$640.00	\$275.00	\$550.00	\$280.00	\$560.00
\$25.00	\$50.00	\$1.00	\$2.00	\$0.10	\$0.20
\$2,500.00	\$2,500.00	\$4,000.00	\$4,000.00	\$4,500.00	\$4,500.00
\$10.00	\$500.00	\$12.50	\$625.00	\$13.50	\$675.00
\$1.00	\$50.00	\$1.50	\$75.00	\$1.25	\$62.50
\$3.10	\$930.00	\$3.25	\$975.00	\$3.50	\$1,050.00

F	\$227,909.38		\$229,809.25			\$256,323.75
	\$5.00	\$6,000.00	\$2.00	\$2,400.00	\$17.00	\$20,400.00
	\$0.15	\$45.00	\$0.20	\$60.00	\$0.10	\$30.00